SECTION II
Time-35 minutes
26 Questions

Directions: The questions in this section are based on the reasoning contained in brief statements or
passages. For some questions, more than one of the choices could conceivably answer the question.
However, you are to choose the best answer; that is, the response that most accurately and completely
answers the question. You should not make assumptions that are by commonsense standards imaolawsible,
superfluous, or incompatible with the passage. After you have chosen the best answer, blacken the
corresponding space on your answer sheet.

Question 1-2

1. Sea turtle nest not only at their own birthplaices. After hatching on the beach, the turtles enter the water
to begin their far-ranging migration, only returning to their birthplace to nest some 15 to 30 years later. It
has been hypothesized that newborn sea turtles learn the smell of their environment, and it is this smell that
stimulates the turtles to return to nest.

Which one of the following if true, would cast the most serious doubt on the hypothesis in the passage?
(A) Because in which sea turtles nest tend to be in secluded locations such as on islands.

(B) Sea turtles exjposed to a variety of environments under experimental conditions preferred the
environment that contained sand form their own birthplaces.

(C) Electronic tags attached to sea turtles did not alter their nesting patterns.

(D) Unlike other types of turtles, sea turtles have a well-developed sense of smell.

(E) Sea turtles that have their sense of smell destroyed by exposure to petroleum products returned to nest
at their own birthplaces.

2. Which one of the following would be most important to know in evaluating the hypothesis in the passages?
(A) how long the expected life span of sea turtles.

(B) what the maximum migration range of the sea turtles is

(C) whether many beaches on which sea turtles were hatched have since been destroyed by development
(D) before returning to the nest, sea turtles are outside the area where the smell of their birthalace would be
perceptible

(E) whether both sex of sea turtles are actively involved in the nesting process

3. For Juanita to get to the zoo she must take either the number 12 bus or else the subway. Everyone knows
that the number 12 bus is not running this week; so although Juanita generally avoids using the subway, she
must have used it today, sncee she was seen at the zoo this afternoon.

The method of the argument is to
(A) assert that if something is true, it will be knows to be true
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(B) demonstrate that certain possibilities are not exclusive

(C) show that something is the case by ruling out the only alternative

(D) explain why an apparent exception to a general rule is not a real

(E) substitutes a claim about what invariably occurs for a claim about what typically occurs

4. If the regulation of compute- networks is to be modeled on past legislation, then its model must be either
legislation regulating a telephone system or else legislation regulating a public broadcasting service. If the
telephone model is used, computer networks will be held responsible only for ensuring that messages get
transmitted. If the public broadcast model is used, computer networks will additionally be responsible for the
content of those messages. Yet a computer network serves both these sorts of functions: it can serve as a
private message service or as a publicly accessible information service. Thus neither of these models can be
appropriate for computer networks.

The passage is structured to lead to which one of the following conclusions?

(A) Regulation of computer networks is required in order to ensure the privacy of the messages transmitted
through such networks.

(B) The regulation of compute- netiworks should not be modeled on any single piece of past legislation.
(C) Computer networks were developed by being modeled on both telephone systems and :elevision
networks.

(D) Legislators who do not have extensive experience with computers should not attempt to write liegislation
regulating compute- netiworks.

(E) A compute- net'work merely duplicates the functions of a telephone systems and a television system.

5. The government has proposed a plan requiring young people to perform services to correct various
current social ills, especially those in education and housing. Government service, however, should be
compelled only in response to a direct threat to the nation's exiistence. For that reason, the proposed
program should not be implemented.

Which one of the following is an assumption on which the goviernment depends?

(A) Government-required service by young people cannot correct all social ills.

(B) The nation’ exiistence is directly threatened only in times of foreign attack.

(C) Crises in education and housing constitute a threat to the nation's exiistence.

(D) The nation's young people believe that current social ills pose no direct threat to the nation's existence.
(E) Some of the social ills that currently afflict the nation do not pose a direct threat to the nation's existence.

6. Cigarette smoking has been shown to be a health hazard; therefore, governments should ban all
advertisements that promote smoking.

Which one of the following principles, if established, mast strongly supports the argument?
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(A) Advertisements should not be allowed to show people doiing things that endanger their health.
(B) Advertisers should not make misleading claims about the healthfulness of their products.

(C) Advertisements should disclose the health hazards associated with the products they promote.
(D) All products should conform to strict joviernment health and safety standards.

(E) Advertisements should promote only healthful products.

7. Every adult male woolly monkey is larger than even the largest female woolly monkey. In colonies of
woolly monkeys, any adult male will dominate any female.

If the statements above are true, which one of the following must on the basis of them be true of woolly
monkeys in colonies?

(A) Size is the primary determinant of relations of dominance among woolly monkeys.

(B) Some large adolescent male woolly monkeys dominate some smaller females of the species.

(C) If a male woolly monkey is larger than a female of the species, that male will dominate that female.
(D) If a female woolly monkey dominates a male of the species. the dominated male monkey is not an adult.
(E) An adult male woolly monkey can dominate a female of the species only if that female is also an adult.

8. S: Our nation is becoming too averse to risk. We boycott any food reported to contain a toxic chemical,
even though the risk, as a mathematical ratio, might be minimal. With this mentality, Columbus would never
have sailed west.

T: A risk-taker in one context can be risk-averse in another: the same person can drive recklessly, but refuse
to eat food not grown organically.

T responds to S by showing that:

(A) a distncttion should be made between avoidable and unavoidable risks

(B) aversion to risk cannot be reliably assessed without reference to context

(C) there is confusion about risk in the minds of many members of the public

(D) mathematical odds concerning risk give an unwarranted impression of precision
(E) risk cannot be defined in relation to perceived probable benefit

9. Any announcement authorized by the head of the department is important. However, announcements are
sometimes issued, without authorization, by people other than the head of the department, so some
announcements will inevitably turn out not to be important.

The reasoning is flawed because the argument

(A) does not specify exactly which communications are to be classified as announcements

(B) overlooks the possibility that people other than the head of the department have the authority to
authorize announcements
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(C) leaves open the possibility that the head of the department never, in fact, authorizes any announcements
(D) assumes without warrant that just because satisfying a given condition is enough to ensure an
announcement's importance, satisfying that condition is necessary for its importance

(E) fails to distinguish between the importance of the position someone holds and the importance of what
that person may actually be announcing on a particular occasion

Questions 10-11

10. The labeling of otherwise high-calorie foods as "sugar-ree," based on the reslaccement of all sugar by
artificial sweeteners, should be prohibited by law. Such a prohibition is indicated because many consumers
who need to lose weight will interpret the label "sugar-ree' as synonymous with "low n calories" and harm
themselves by building weight-loss diets around foods labeled "sugar-free." Manufacturers of sugar-ree
foods are well aware of this tendency on the part of consumers.

10. Which one of the following principles, if established, most helps to justify the conclusion in the passage?
(A) Product labels that are literally incorrect should be prohibited by law, even if reliance on those labels is
not likely to cause harm to consumers.

(B) Product labels that are literally ncorrect. but in such an obvious manner that no rational consumer would
rely on them. should nevertheless be prohibited by law.

(C) Product labels that are literally correct but cannot be interpreted by the average buyer of the product
without expert help should be prohibited by law.

(D) Product labels that are literally correct but will predictably be misinterpreted by some buyers of the
product to their own harm should be prohibited by law.

(E) Product labels that are literally correct. but only on one of two equally accurate interpretations, should be
prohibited by law if buyers tend to interpret the label in the way that does not match the product's actual
properties.

11. Which one of the following, if true, provides the strongest basis for challenging the conclusion in the
passage?

(A) Food manufacturers would respond to a ban on the label "sugar-free" by reducing the calories in
sugar-free products by enough to be able to promote those products as diet foods.

(B) Individuals who are diabetic need to be able to identify products that contain no sugar by reference to
product labels that expressly state that the product contains no sugar.

(C) Consumers are sometimes slow to notice changes in product labels unless those changes are themselves
well advertised.

(D) Consumers who have chosen a particular weight-loss diet tend to persist with this diet if they have been
warned not to expect very quick results.

(E) Exactly what appears on a product label is less important to consumer behavior than is the relative visual
prominence of the different pieces of information that the label contains.
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12. In the Centerville Botanical Gardens, all tulip trees are older than any maples. A majority, but not all, of
the garden's sycamores are older than any of its maples. All the garden's maples are older than any of its
dogwoods.

If the statements above are true, which one of the following must also be true of trees in the Centerville
Botanical Gardens?

(A) Some dogwoods are as old as the youngest tulip trees.

(B) Some dogwoods are as old as the youngest sycamores.

(C) Some sycamores are not as old as the oldest dogwoods.

(D) Some tulip trees are not as old as the oldest sycamores.

(E) Some sycamores are not as old as the youngest tulip trees.

13. Emissions from automobiless that burn gasoline and automobiles that burn diesel fuel are threatening the
quality of life on our planet, contaminating both urban air and global atmosphere. Therefore, the only
effective way to reduce such emissions is to reolacce the conventional diesel fuel and gasoline used in
automobiles with cleaner-burning fuels, such as methanol, that create fewer emissions.

Which one of the following is an assumption on which the argument depends?

(A) Reducing the use of automobiles would not be a more effective means to reduce automobile emissions
than the use of methanol.

(B) There is no fuel other than methanol that is cleaner-burning than both diesel fuel and gasoline.

(C) If given a choice of automobile fuels, autonobile owners would not select gasoline over methanol.

(D) Automnobile emissions constitute the most serious threat to the global environment.

(E) At any given time there is a direct correlation between the level of urban air pollution and the level of
contamination present in the global atmosphere.

14. Dr. Libokov: Certain islands near New Zealand are home to the tuatara, reptiles that are the sole
surviving members of the sphenodontidans. Sphenodontidans were plentiful throughout the world during
the age of the dinosaurs. But the survival of sphenodontidans near New Zealand, and their total
disappearance elsewhere, is no mystery. New Zealand and nearby islands have no native land mammals.
Land mammalls, plentiful elsewhere, undoubtedly became major predators of sphenodontidans and their
eggs, leading to their extncttion.

Dr. Santos: In fact, the tuatara thrive only on a few islands near New Zealand. On all those where land
mammals, such as rats, dogs, or cats, have been introduced in recent years, the tuatara are now extincit or

nearly so.

Which one of the following most accurately characterizes Dr. Santos' response to the hypothesis advanced by
Dr. Libokov?
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(A) It identifies a flaw in Dr. Libokov's reasoning.
(B) It restates Dr. Libokov's major hypothesis and thus adds nothing to it.
(C) It contradicts one of Dr. Libokov's assertions.
(D) It others a hypothesis that is incompatible with Dr. Libokov's position.
(E) It provides additional evidence in support of Dr. Libokov's hypothesis.

15. A standard problem for computer security is that passwords that have to be typed on a computer
keyboard are comparatively easy for unauthorized users to steal or guess. A new system that relies on
recognizing the voices of authorized users apparently avoids this problem. In a small initial trial, the system
never incorrectly accepted someone seeking access to the computer's data. Clearly, if this result can be
repeated in an operational setting, then there will be a way of giving access to those people who are entitled
to access and to no one else.

The reasoning above is flawed because it

(A) makes a faulty comparison, in that a security system based on voice recognition would not be expected
to suffer from the same problems as >ne tlhat relied on passwords entered from a keyboard

(8) bases a general conclusion on a small amount of data

(C) fails to recognize that a security system based on voice recognition could easily have applications other
than computer security

(D) ignores the possibility that the system sometimes denies access to people who are entitled to access
(E) states its conclusion in a heavily qualified way

16. Researchers in South Australia estimate changes in shark populations inhabiting local waters by Body
temperature varies over a 24-hour period, with a low point roughly between 4 a.m. and 5 a.m. Speed of
reaction varies in line with body temperature, such that whenever body temperature is low, speed of reaction
is low. If low body temperature caused slow reaction, the speed of reaction should increase if we artificially
raised body temperature during the period 4 a.m. to 5 a.m. But the speed of reaction does not ncirease.

Which one of the following conclusions can properly be drawn from the above statements?
(A) Low speeds of reaction cause low body temperature.

(B) Low speeds of reaction do not cause low body temperature.

(C) Low body temperatures do not cause low speeds of reaction.

(D) Low body temperatures cause low speeds of reaction.

(E) Artificially raising body temperature causes increased speed of reaction.

17. Of the two proposals for solving the traffic problems on Main Street, Chen's slain is better for the city as
a whole, as is clear from the fact that the prnciipal supporter of Ripley's alain is Smith Stores. Smith Stores,
with its highly paid consultants, knows where its own interest lies and, moreover, has supported its own
interests in the past, even to the detriment of the city as a whole.
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The faulty reasoning in which one of the following is most parallel to that in the argument above?

(A) Surely Centreville should oppose adoption of the regional planning commission's new slain since it is not
in Centreville's interest, even though it might be in the interest of some towns in the region.

(B) The school board should support the plan for the new high school sncee this alain was recommended by
the well-qualified consultants whom the school board hired at great expense.

(C) Of the two budget proposals, the mayor's is clearly preferable to the city council's, since the mayor's
budget addresses the needs of the city as a whole, whereas the city council is protecting special interests.
(D) Nomura is clearly a better candidate for college president than Miller, since Nomura has the support of
the three deans who best understand the president's job and with whom the president will have to work most
closely.

(E) The olanned light-rail system will clearly serve suburban areas well, sncee its main opponent is the city
government, which has always ignored the needs of the suburbs and sought only to protect the interests of
the city.

Question 18-19

The format of network television news programs generally allows advocates of a point of view only 30
seconds to convey their message. Consequently, regular watchers become accustomed to thinking of issues
in terms only of slogans and catch phrases, and so the expectation of careful discussion of public issues
gradually disappears from their awareness. The format of newspaper stories, on the other hand, leads
readers to pursue details of stories headed by the most important facts and so has the opposite effect on
regular readers—that of maintaining the expectation of careful discussion of public issues. Therefore, in
contrast to regular newspaper reading, regular watching o" netiwork television news programs increases the
tendency to think of public issues in oversimplified terms.

18. The argument assumes which one of the following?

(A) Viewers of network :eltevision news programs would be interested in seeing advocates of opposing views
present their positions at length.

(B) Since it is not possible to present striking images that would symbolize events for viewers, and since
images hold sway over words in :eleevision, :eleevision must oversimplify.

(C) It is not possible for :elevision to present public issues in a way that allows for the nuanced presentation
of diverse views and a good-faith interchange between advocates of opposing views.

(D) In netywork television news reports, it is not usual for a reporter to offer additional factual evidence and
background information to develop a story in which opposing views are presented briefly by their advocates.
(E) Television news reporters introduce more of their own biases into news stories than do newspaper

reporters.

19. Which one of the following. if true, most seriously weakens the argument?

(A) Regular watchers of network television news programs are much more likely than other people to be
habitual readers of newspapers.

(B) Inclluding any 30-second quotations from proponents of diverse views, the total amount of time devoted
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to a single topic on regular network television news programs averages less than one and a half minutes.
(C) The format o net'work television news programs does not incllude roundtable discussion of issues among
informed proponents of diverse views.

(D) Television news reports tend to devote equal time to discussion of opposing views.

(E) People who watch the most eleevision, measured i1 aver@age number of hours of watching per week., tend
not to be regular readers of newspapers.

Question 20-21

A recent report on an environmental improvement program was criticized for focusing solely on pragmatic
solutions to the large number of significant problems that plague the program instead of seriously trying to
produce a coherent vision for the future of the program. In response the report's authors granted that the
critics had raised a valid point but exdlaiined that, to do anything at all, the program needed continued
government funding, and that to get such funding the program first needed to regain a reputation for
competence.

20. The basic position taken by the report's authors on the criticism leveled against the report is that
(A) addressing the critics' concern now would be premature

(B) the critics' motives are self-serving

(C) the notion of a coherent vision would be inappropriate to a program of the sort at issue

(D) the authors of the report are more knowledgeable than its critics

(E) giving the report a single focus is less desirable than the critic claim

21. Which one of the following, if true, would best serve the critics of the report in their attempt to undermine
the position taken by the report's authors?

(A) The government does not actually provide a full 100 percent of the program's funding.

(B) The program will continue to have numerous serious problems precisely because it lacks a coherent
vision for its future.

(C) The program had a coherent vision at its inception, but that vision has proved impossible to sustain.
(D) The government has threatened to cut off funding for the program but has not acted yet on this threat.
(E) The program has acquired a worse reputation for incompetence than it deserves.

22. Oil company representative: We spent more money on cleaning the otters affected by our recent oil spill
than has been spent on any previous marine mammall rescue project. This shows our concern for the
environment.

Environmentalist: You have no such concern. Your real concern is evident in your admission to the press that
news photographs of oil-covered otters would be particularly damaging to your public image, which olays an
important role in your level of sales.

The environmentalist's conclusion would be properly drawn if it were true that the
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(A) oil z-ompany cannot have more than one motive for cleaning the otters affected by the oil spill

(B) otter population in the area of the oil spill could not have survived without the cleaning project

(C) oil company has always shown a high regard for its profits in choosing its courses of action

(D) government would have spent the money to clean the otters if the oil company had not agreed to Jo iit
(E) oil company's efforts toward cleaning the affected otters have been more successful than have such
efforts in previous projects to clean up oil spills

23. A group of scientists studying calcium metabolism in laboratory rats discovered that removing the rats'
parathyroid glands resulted in the rats' having substantially lower than normal levels of calcium in their blood.
This discovery led the scientists to hypothesize that the function of the parathyroid gland is to regulate the
level of calcium in the blood by raising that level when it falls below the normal range. In a further
experiment, the scientists removed not only the parathyroid gland but also the adrenal gland from rats. They
made the surprising discovery that the level of calcium in the rats' blood decreased much less sharply than
when the parathyroid gland alone was removed.

Which one of the following, if true, explains the surprising discovery in a way most consistent with the
scientists’ hypothesis?

{A) The adrenal gland acts to lower the level of calcium in the blood.

(B) The adrenal gland and the parathyroid gland play the same role in regulating calcium blood levels.

(C) The absence of a parathyroid gland causes the adrenal gland to increase the level of calcium in the blood.
(D) If the adrenal gland, and no other gland, of a rat were removed, the rat's calcium level would remain
stable.

(E) The only function of the parathyroid gland is to regulate the level of calcium in the blood.

24. Sncee Mayor Drabble always repays her political debts as soon as possible, she will almost certainly
appoint Lee to be the new head of the arts commission. Lee has wanted that job for a long time, and Drabble
owes Lee a lot for his support in the last election.

Which one of the following is an assumption on which the argument depends?

(A) Mayor Drabble has no political debt that is both of longer standing than the one she owes to Lee and could
as suitably be repaid by an appointment to be the new head of the arts commission.

(B) There is no one to whom Mayor Drabble owes a greater political debt for support in the last election than
the political debt she owes to Lee.

(C) Lee is the only person to whom Mayor Drabble owes a political debt who would be willing to accept an
appointment from her as the new head of the arts commission.

(D) Whether Lee is qualified to head the arts commission is irrelevant to Mayor Drabble's decision.

(E) The only way that Mayor Drabble can adequa:el'y repay her political debt to Lee is by appointing him to
head the arts commission.
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25. The fact that tobacco smoke inhaled by smokers harms the smokers does not prove that the much
smaller amount of tobacco smoke inhaled by nonsmokers who share living space with smokers harms the
nonsmokers to some degree. Many substances, such as vitamin A, are toxic in large juantitties but beneficial
in small quantities.

In which one of the following is the pattern of reasoning most similar to that in the argument above?

(A) The fact that a large concentration of bleach will make fabric very white does not prove that a small
concentration of bleach will make fabric somewhat white. The effect of a small concentration of bleach may
be too slight to change the color of the fabric.

(B) Although a healthful diet should include a certain amount of fiber, it does not follow that a diet that
inclludes large amounts of fiber is more healthful than one that inclludes smaller amounts of fiber. Too much
fiber can interfere with proper digestion.

(C) The fact that large amounts of chemical fertilizers can Kkill plants does not prove that chemical fertilizers
are generally harmful to plants. It proves only that the quantity of chemical fertilizer used should be adjusted
according to the needs of the plants and the nutrients already in the soil.

(D) From the fact that five professional taste testers found a new cereal product tasty, it does not follow that
everyone will like it.

Many people find broccoli a tasty food, but other people have a strong dislike for the taste of broccoli.

(E) Although watching television for half of every day would be a waste of time, watching television briefly
every day is not necessarily even a small waste of time. After all, it would be a waste to sleep half of every
day, but some sleep every day is necessary.

26.Why should the government, rather than industry or universities, provide the money to put a network of
supercomputers in place? Because there is a range of problems that can be attacked only with the massive
data-managing capacity of a supercomputer network. No business or university has the resources to
purchase by itself enough machines for a wholz netiwork, and no business or university wants to invest in a
part of 3 netwwork if no mechanism exists for coordinating establishment of the network as a whole.

Which one of the following indicates a weakness in the argument?

(A) It does not furnish a way in which the dilemma concerning the establishment of tha network can be
resolved.

(B) It does not establish the impossibility of creating a supercomputer network as an international network.
(C) It fails to address the question of who would maintain the network if the government, rather than
industry or universities, provides the money “or est:ablishing it.

(D) It takes for granted and without justification that it would enhance national preeminence in science for
the government to provide the network.

(E) It overlooks the possibility that businesses or universities, or both, could cooperate to build the network.
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SECTION III
Time-35 minutes
27 Questions

Directions: Each passage in this section is followed by a group of questions to be answered on the basis of
what is stated or implied in the passage. For some of the questions, more than one of the choices could
conceivably answer the question. However, you are to choose the best answer, that is, the response that
most accuratel'y and compleely answers the question, and blacken the corresponding space on your answer
sheet.

Nearly every writer on the philosophy of civil rights activist Martin Luther King, Jr., makes a connection
between King and Henry David Thoreau, usually via Thoreau's famous essay, "Civil Disobedience" (1849). In
his book Stride Toward Freedom (1958), King himself stated that Thoreau's essay was his first in:elllectual
contact with the theory of passive -esistance to governmental laws that are perceived as morally unjust.
However, this emphasis on Thoreau's influence on King is unfortunate: first. King would not have agreed with
many other aspects of Thoreau's philosophy, including Thoreau's ultimate acceptance of violence as a form
of protest; second, an overemphasis on the influence of one essay has kept historians from noting other
correspondences between King's philosophy and transcendentalism. "Civil Disobedience" was the only
example of transcendentalist writing with which King was familiar, and in many other transcendentalist
writings. nclluding works by Ralph Waldo Emerson and Margaret Fuller, King would have found ideas more

nearly akin to his own.

The kind of civil disobedience King had in mind was, in fact. quite different from Thoreau's view of civil
disobedience. Thoreau, like most other transcendentalists, was primarily interested in reform of the
individual, whereas King was primarily interested in reform of society. As a protest against the Mexican War,
Thoreau refused to pay taxes, but he did not hope by his action to ‘orce a change in national aolicy.. While he
encouraged others to adopt similar protests, he did not attempt to mount any mass >rotest action against
unjust laws. .n ciontrast to Thoreau, King began to advocate the use of mass civil disobedience to effect
revolutionary changes within the social system.

However, King's writings suggest that, without realizing it, he was an nciipient transcendentalist. Most
transcendentalists subscribed to the concept of "higher law" and inclluded civil disobedience to unjust laws as
part of their strategy. They often invoked the concept of higher law to justify their opposition to slavery and
to advocate disobedience to the strengthened Fugitive Slave Law of 1850. In his second major book, King's
discussion of just and unjust laws and the responsibility of the individual is very similar to the
transcendentalists' discussion of higher law In reference to how one can advocate breaking some laws and
obeying others, King notes that there are two types of laws, just and unjust; he describes a just law as a
"code that squares with the moral law" and an unjust law as a "code that is out of harmony with the moral
law." Thus. King's opposition to the injustice of legalized segregation in the twentieth century is
philosophically akin to the transcendentalists' opposition to the Fugitive Slave Law in the nineteenth century.
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1.Which one of the following best states the main idea of the passage?

(A) King's philosophy was more influenced by Thoreau's essay on civil disobedience than by any other writing
of the transcendentalists.

(B) While historians may have overestimated Thoreau's influence on King, King was greatly influenced by a
number of the transcendentalist philosophers.

(C) Thoreau's and King's views on civil disobedience differed in that King was more concerned with the social
reform than with the economic reform of society.

(D) Although historians have overemphasized Thoreau's influence on King, there are parallels between
King's philosophy and transcendentalism that have not been fully appreciated.

(E) King's ideas about law and civil disobedience were influenced by transcendentalism in general and
Thoreau's essays in particular.

2.Which one of the following statements about "Civil Disobedience" would the author consider most
accurate?

(A) It was not King's first contact with the concept of passive -esistance to unjust laws.

(B) It was one of many examples of transcendentalist writing with which King was familiar.

(C) It provided King with a model for using passive -esistance to effect social change.

(D) It contains a number of ideas with which other transcendentalists strongly disagreed.

(E) It influenced King's philosophy on passive resistance to unjust laws.

3.In the first paragraph, the author is primarily concerned with

(A) chronicling the development of King's philosophy on passive resistance to unjust law

(B) suggesting that a common emphasis on one influence on King's philosophy has been misleading
(C) providing new information about the influence of twentieth-century philosophers on King's work
(D) summarizing the work of historians on the most important influences on King's philosophy

(E) providing background information about nineteenth-century transcendentalist philosophers

4.According to the passage, which one of the following is true of' Emerson and Fuller?

(A) Some of their ideas were less typical of transcendentalism than were some of Thoreau's ideas

(B) They were more concerned with the reform of society than with the reform of the individual.

(C) They would have been more likely than Thoreau to agree with King on the necessity of mass srotest in
civil disobedience.

(D) Their ideas about civil disobedience and unjust laws are as well known as Thoreau's are.

(E) Some of their ideas were more similar to King's than were some of Thoreau's.

5.According to the passage. King differed from most transcendentalists in that he
(A) opposed viclence as a form of civil crotest

(B) opposed war as an instrument of foreign policy under any circumstances

(C) believed that just laws had an inherent moral value

(D) was more interested in reforming society than in reforming the individual
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(E) protestied social and legal injustice in United States society rather than United States foreign policy

6. The passage suggests which one of the following about Thoreau?

(A) He was the first to develop fully the theory of civil disobedience.

(B) His work has had a greater influence on contemporary thinkers than has the work of Emerson and Fuller.
(C) His philosophy does not contain all of the same elements as the philosophies of the other
transcendentalists.

(D) He advocated using civil disobedience to force the federal government to change its policies on war.
(E) He is better known for his ideas on social and legal reform than for his ideas on individual reform.

7.The passage provides support for which one of the following statements about the quotations in lines
52-55?

(A) They are an example of a way in which King's ideas differed from Thoreau's but were similar to the ideas
of other transcendentalists.

(B) They provide evidence that proves that King's philosophy was affected by transcendentalist thought.
(C) They suggest that King, like the transcendentalists, judged human laws by ethical standards.

(D) They suggest a theoretical basis for King's philosophy of government.

(E) They provide a paraphrase of Thoreau's position on just and unjust laws.

In democracies and its critics Robert Dahl defend both democratic value and pluralist democracies, or
polyarchies (a rough shorthand term for Western political systems). Dahl argues convnciingly that the idea
of democracy rests on political equality—the equality capacity of all citizens to determine or influence
collective decisions. Of course, as Dahl recognizes, if hierarchical ordering is inevitable in any structure of
government, and if no society can guarantee perfect equality in the resources that may give rise to political
influence, the democratic princiiple of political equality is nciapable of full realization. So actual systems can
be deemed democratic only as approximations to the ideal. It is, on these grounds that Dahl defends
polyarchy.

As a representative system in which elected officials both determine joveernment policy and are accountable
to a broad-based electorate, polyarchy reinforce:ss a diffusion of power away from any single center and
toward a variety of individuals, groups, and organizations. It is this centrifugal characteristic, Dahl argues,
that makes polyarchy the nearest possible approximation to the democratic ideal. Polyarchy achieves this
diffusion of power through party competition and the operation of pressure groups. Competing for votes,
parties seek to offer different sections of the electorate what they most want; they do not ask what the
majority thinks of an issue, but what 2olicy commitments will sway the electoral decisions of particular
groups. Equally, groups that have strong feelings about an issue can organize in pressure groups to influence
public policy.

During the 1960s and 1970s, criticism of the theory of pluralist democracy was vigorous. Many critics pointed
to a gap between the model and the reality of Western political systems. They argued that the distribution of
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power resources other than the vote was so uneven that the political order systematically gave added weight
to those who were already richer or organizationally more powerful. So the power of some groups to exclude
issues altogether from the political agenda effectively countered any diffusion of influence on
decision-making.

Although such criticism became subdued during the 1980s, Dahl himself seems to support some of the earlier
criticism. Although he regrets that some Western in:elllectuals demand more democracy from polyarchies
than is possible, and is cautious about the possibility of further democratization, he nevertheless ends his
book by asking what changes in structures and consciousness might make political life more democratic in
present polyarchies. One answer, he suggests. is to look at the economic order of polyarchies from the point
of view of the citizen as well as from that of producers and consumers. This would require a critical
examination of both the distribution of those economic resources that are at the same time political
resources, and the relationship between political structures and economic enterprises.

8.The characterization of polyarchies as "centrifugal" (line 22) emphasizes the

(A) way in which political power is decentralized in a polyarchy

(B) central role of power resources in a polyarchy

(C) kind of concentrated power that political parties generate in a polyarchy

(D) dynamic balance that exists between economic enterprises and elected officials in a polyarchy
(E) dynamic balance that exists between voters and elected officials in a polyarchy

9.In the third paragraph, the author of the passage refers to criticism of the theory of polyarchy democracy
primarily in order to

(A) refute Dahl's statement that Western intellectuals expect more democracy from polyarchies than is
possible

(B) advocate the need for rethinking the basic principles on which the theory of democracy rests

(C) suggest that the structure of government within pluralist democracies should be changed

(D) point nut a flaw in Dahl's argument that the principle of political equality cannot be fully realized

(E) point out an objection to Dahl's defense of polyarchy

10.According to the passage, the aim of a political party in a polyarchy is to do which one of the following?
(A) determine what the position of the majority of voters is on a particular issue

(B) determine what position on an issue will earn the support of particular groups of voters

(C) organize voters into pressure groups in order to influence public policy on a particular issue

(D) ensure that elected officials accurately represent the position of the party on specific issue

(E) ensure tha: elected officials accuraxely represent the position of the electorate on specific issues

11. It can be inferred from the passage that Dahl assumes which one of the following in his defense of
polyarchies?

(A) Polyarchies are limited in the extent to which they can embody the idea of democracy.

(B) The structure of polyarchical governments is free of hierarchical ordering.
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(C) The citizens of a polyarchy have equal access to the resources that provide political influence.
(D) Polyarchy is the best political system to foster the growth of political parties.
(E) Polyarchy is a form of government that is not influenced by the interests of economic enterprises.

12. Which one of the following is most closely analiogous to pluralist democracies as they are described in
relation to the democratic principle of political equality?

(A) an exact copy of an ancient artifact that is on display in a museum

(B) a performance of a musical score whose range of tonality cannot be completel'y captured by any actual
instruments

(C) a lecture by a former astronaut to a class of young students who would like to be astronauts

(D) the commemoration of a historical event each year by a historian presenting a lecture on a topic related
to the event

(E) the mold from which a number of identical castings of a sculpture are made

13.Which one of the following, if true, would most strengthen Dahl's defense of polyarchy?

(A) The political agenda in a polyarchy is strongly influenced by how power resources other than the vote are
distributed.

(B) The outcome of elections is more often determined by the financial resources candidates are able to
spend during ;ampaigins than by their stands on political issue.

(C) Public policy in a polyarchy is primarily determined by decision-makers who are not accountable to
elected officials.

(D) Political parties in a polyarchy help concentrate political power in the central government.

(E) Small and diverse pressure groups are able to exert as much influence on public olicy in a polyarchy as
are large and powerful groups.

14.The passage can best be described as

(A) an inquiry into how present-day polyarchies can be made more democratic

(B) a commentary on the means pressure groups employ to exert influence within polyarchies
(C) a description of the relationship between polyarchies and economic enterprises

(D) a discussion of the strengths and weaknesses of polyarchy as a form of democracy

(E) an overview of the similarities between political parties and pressure groups in a polyarchy

The old belief that climatic stability accounts for the high level of species diversity in the Amazon River basin
of South America emerged, strangely enough, from observations of the deep sea. Sanders discovered high
diversity among the mud-dwelling animals of the deep ocean. He argued that such diversity could be
attributed to the absence of significant fluctuations in climate and physical conditions, without which the
extinction of species should be rare. In the course of time new species would continue to evolve, and so the
rate of speciation would be greater than the rate of extncition, resulting in the accumulation of great diversity.
Sanders argued that the Amazon tropical rain forest is analogous to the deep sea: because the rain ‘orest

has a stable climate, extinction should be rare. Evidence that some species of rain-‘orest trees have
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